1. s FAF 4aE vust A 5 &4 &2 AL
D V34+7<9 @ VI5- V8 <4- 8
@w/l_—5<«/1_—x/% @ V50+7>14

® -V5-3>-V6-3

® (VIT-5) - (VII - V26) = -5+ V26 = - VZ5+ V26 > 0
S VIT=5> V11— V26




2.

V49 o|B& x =1 o]t}




VaAsA S e ol B A AAE 2 AR

@4 @54 @6 @A G 3

B ~

10 < x <99, x = 3k2(k : %) O]|BE x = 3x22,3x3%3x
42,3 x 52

x =12, 27, 48, 75

oo 47N




4.

t}S I A oABCD ¢} oEFGH 7} AAFZEg 0|11 AD =
,EH=EQ=ES ¢ o, d P, Q,R,S o d-gst= FE vI=A %=

o |

2 AL BE I2HY

G
C H_]
B | \
D ~ I\ F
¥ Yy N — 1y >
—2P 0 1Q R4 E 6 7 S9

@ P(-v2) © Q(- V3)

® R(1+ V5) @ S(5+ V10)

vpe,0 200 BGoe @®ae 60606

DABCD 9] §o]7} 50|22 gt #9] Zo|= V5, oEFGH 9] ¥
ol 100]2& g # o] Lol i0
et @ P(1- V5) © Q(5 -~ VID)




5.

O<a<19dd, \/2-ap- Aa-1)? = AttstE?

@a @ 3a-2 ® -3a+4
@ -5a+3 ® a-3

O<a<19f,1<2-a<2, —-1l<a-1<00]B&
(FA) =12-al - |2(a-1)|

=(2-a)-{-2(a-1)}

=2—-a+2a-2

=a




6. theF ol £AANMY H A, A B 9 AEE TEW?

LT

Y

@@A:l—@,@B:1+\/ﬁ
AA1+ V10, B:1- V10
A+ V10,H B 1+ V10
HA-1-+v10, ¥ B:-V10
A A:1-+10,3A B:V10

©@ ® © ©

o) 712l d HAZE ] Yolt 10 olma 3 wio] o]

V10 ©Jt.




7.

VBx 7} A7t 517] 919t x B BT A (T x < 20 9 AFGIS

oltt.)
@D 2,8 @ 2, 4, 8, 16
@)2, 8, 18 ® 2,8, 19

\/8_= V23 X x

X =2, 23, 2 x 32




8.

=

oo

4g 256 S o, AR F3rh o st

@ 2V3-3V3-3V5+5V5 @ 4V3+ V5-5V3+ 5
® V3+3V5-+v5-2v3 @ V5+ V5+V3-2v3
@)3v5- V5+3v3+23

D, 2,0, d-vV3+2+5
®5v3+2v5




e a = 4V2, b =316 © vl washs Bgelt [
Qrof] gt A-Z SAYE Y2 A2
al |b=4v2-[ ]
= V32-V54[_ o
.'.an
D +, 3V6, <, > @ +, 4V2, >, >
® -, 3V6, >, > @ -, 42, <, <




10. V50 — x 7} AHdS7t HE 5 Ste e x § AHAR 2F2 327

@1 @ 5 @9 @ 14 @25

B

50 Het 22 Algs 71 & 7 H A A2 Foiw
49, 36, 25 °]iL, °o] & WHdt= AAS x T ARAR A2
A2 V60— x =25 7} & wfolch.

V50 —x = V25

50 —x =25

L x =25




11. /2 5 1ss) 57 ok B4 0 = B 2@ Q171
a

1/ @271 O3 @47H ® 57

/180  [2?x3?x5
a a a

a=05, 5x22 5x32, 5x22x320|B& 4 7jojt},




9% 21
a=\3 b= viduy = =9 o] zreq
2a 2b

D 22 @ 27 ® —2V2+ V7
@ 2v2-2+7 @o




13. -l1<a<2 ¥ o, ot A2 7+t5] 51H?
V(@-2)2 - /(a+1)?
@ a-3 ® -2a-3 @—2a—|—1

@ 3 ®1

B

V(@-22- /(a+1)?
=—(a-2)-(a+1) (- a=2<0,a+1>0)
=-at+2-a-1

=-2a+1




14, oZ 24 24 919 A P 9 Q Atelo] AE Fot? (H,
4

C

J \ B
t t t !} + | i + +
-4-3-2Q 01 A 3 4 P6 7

® 6 @ 8 ® vio @2vi0  © 3vI0

OABCD 9] Hol= (& BAHEE Hol)- (A2 u 7he] Hele]
k2))
oABCD 9] ‘5301—‘516—4x%x1x3:10

. DABCD ©] g 9] ol V0 olt.
AP=AB=AD=AQ= V0

A P2 B} VI0 B2 2 Sof B85k Foltk. P2+ VID)
2 Q2 Bk VI0 92 2 40 T8k HeolthQ(2- ViD)
- PQ=(2+ VI0) - (2- VI0) = 2V10




15.

VBBI=2ix 7F A5 o, A% x 9 gre] FE T

@ 8 @ 9 @10 @ 11

® 12

B

V384 — 24x || A

384 — 24x = 24(16 — x) °]B2

\/24(16—x) = 26 x V16-x ©]t}.

= 2V2x3x V16—x

16-x=6x12=6

x =10 o|t}.
16-x=6x2%2=24Fx< 00|22 x 7} AL}

whA x = 10 9] 3t & Aot

=]
=

% giet.




